THIS DRAWING IS SUPPLIED FOR INFORMATION ONLY. DESIGN FEATURES, SPECIFICATIONS AND PERFORMANCE DATA SHOWN HEREON ARE THE PROPERTY OF THE
AMPHENOL CORPORATION. NO RIGHTS OF REPRODUCTION ARE IMPLIED. ALL DIMENSIONS ARE SUBJECT TO NORMAL MANUFACTURING VARIATIONS.

5. B %% Protection class:IP67 & IP2X.

4 5 [ 6 i I 8
REVISIONS
ks REV [ZONE ECO DESCRIPTION DATE BY | APPR
(’ G = T INITIAL RELEASE o6/24/15 RW EC
B | -= o The Locking Screw Change from M2.5 to M20 [03/25/16( RW GX
\ c|-- o Change back shell 09/29/16 RW TS
D | - = Add Locking Screw Assembly Torque 10/28/16] SW RW
| E | -—— —— Updated Spec. 11/29/19| Steven JL
|
|
|
t
! SO BB Key & Color | RS HVIL BH5K/ Cable Size l | |
| v, e orange 0, AWES No VIL | "70"=70m? = E s b
|| 7Y) B Black 1, W8 Vith WIL - |"50°=50m’ i g \
T yop¥ 1 ) |
B el e o b .
d. Y ﬁﬁ Green | | H | Orientation of wire can Rotate 90 Degrees
|| "W, 4 Red | bt ; :
i ", %o Blue | ! | P/N Model NO. Accepted Wire 0D P/N Model NO. Accepted Wire 0D
A B A AREILCEE TR DRI U AN EN (L 1] | AC-HA004440 | PL58X-301-35 AC-HA004455 | PL58X-300-35
K!,_ _l_ b) AC-HA004441 | PL58Y-301-35 AC-_HA094456 PL58Y‘3_00—35
BRI TWER” ST AC-HA004442 | PL38U-301-35 11.540.3 AC-11A004457 | PLESU-200-35 11.540.3
L The color of press key see “Ordering Information” AC-HA004443 | PL58V-301-35 AC-HA004458 | PL58V-300-35
! - x AC-HA004444 | PL58W-301-35 AC-HA004459 | PL58W-300-35
T §+ AC-HA004445 | PL58X-301-50 AC-HA003745 | PL58X-300-50
3 = AC-HA004446 | PL58Y-301-50 AC-HA003746 | PL58Y-300-50
3 anol TP 1 ! ’ N | AC-HA004447 | PL58U-301-50 13.6+0.3 AC-HA003747 | PL58U-300-50 13.6£0.3
';"“ R ens e L b | AC-HA004448 | PL58V-301-50 AC-HA003748 | PL58V-300-50
i 2019 -12- 09 l £5 of : N AC-HA004449 | PL58W-301-50 AC-HA003749 | PL58W-300-50
i J — | s : > L AC-HA004450 | PL58X-301-70 AC-HA004460 | PL58X-300-70
s R R ey o) | Dy \ AC-HA004451 | PL58Y-301-70 AC-HA004461 | PL58Y-300-70
eGISTERED CCPY . = \ : AC-11A004452 | PL58U-301-70 15.540.3 AC-HA004462 | PL58U-300-70 15.540.3
| H ” \\ i AC-HA004453 | PL58V-301-70 AC-HA004463 | PL58V-300-70
H ! AM2.0 Eags AC-HA004454 | PL58W-301-70 AC-HA004464 | PL58W-300-70
ﬂ#’é?ﬁ (SpeC- )i M2.0 locking screw
1. TEEE Operating temperature: -40° C~+125° C. HRLH TRBLREHE, TR T RRAUR
2 ﬁi@ﬁ Current rating(Connector Only): Add thread glue here gnd_tighten‘the nut When it is used in cable assembly
35mm :150A; 50m? :200A; 70m? :250; 95mn :300A. /A e 7 i ek pdon ank ot By s Bk
3. HiE sk Operating voltage:1000 VDC. ;
4.t ¥ JE Dielectric withstanding voltage: 5000 VDC. £\ 73.1 REF

6. EBFHL Shielding. AMPHENOL | Amphenol Technical Products International GZ
1. ﬂlﬁ_ﬁ? Mating cycle:1-00 Min. FRIE [ | ww | wn | ww e
8. W HB W Automatic secondary lock. o 0 Rmetestl o) skl et Puok 10mm-00 1205 Pig s
9. BB IFR¥90° Rotate function of wire. © = |101]| A3 £ Y
10. %EEE& Electrical interlock (HVIL). % 4 SIGNATURE B DATE UNLESS. 07H§RW|SE SPECIFIED DWG NO: b 5
11 BXHARE Mating receptacle : See drawing “PL00-300" %) BDRAWN | Steven T1/75710 |9 Tomee o & tokomse . i
12. BB 4 B E4M4%E Tightening Torque of Locking Screw: 0.1740.01 Nm A\ WM CHECKED 4pn g 27 (12 0 7L 0EC £1.00 ST PART 1 ST REY.
it #APPRO R T L [T R R B WA _
1 l 2 l 3 4 5 v g 6 P 7 l 8




THIS DRAWING IS SUPPLIED FOR INFORMATION ONLY. DESIGN FEATURES, SPECIFICATIONS AND PERFORMANCE DATA SHOWN HEREON ARE THE PROPERTY OF THE

AMPHENOL CORPORATION. NO RIGHTS OF REPRODUCTION ARE IMPLIED. ALL DIMENSIONS ARE SUBJECT TO NORMAL MANUFACTURING VARIATIONS.

1 \ 2 3 4 5 6 7 | 8
REVISIONS

REV |ZONE ECO DESCRIPTION DATE BY APPR
A —— —— INITIAL RELEASE 06/24/15 RW EC
B —— —— The Locking Screw Change from M2.5 to M2.0 [03/25/16] RW GX
C | —— —— Change back shell 09/29/16] RW TS
D | — —— Add Locking Screw Assembly Torque 10/28/16] SW RW
E | — —— Updated Spec. 11/29/19| Steven JL

[ N
| |
! BA B Key & Color | BEREHL HVIL B K Cable Size ‘
| v, &t orange 0, FHHHE No HVIL |”70"=T0m’ \
i "V, s Black 1, #E With WVIL | ”50”=50m ‘
1| U7, L Yellow ”35"=35m’ !
! V", %k Green !
|| "W, 4t Red \
‘L"T”y Wt Blue J

HRGEL THER”

The color of press key see “Ordering Information”

B T IE R 190°

Orientation of wire can Rotate 90 Degrees

——

Z
100}
@,444
00|
37.6

—

M =

g

[ —

)

31.0

S H (Spec. ) |
1. TAFIR¥ Operating temperature: —40° C~+125° C.

2. HUE B Current rating(Connector Only):
35mm® : 150A: 50mm® :2004; 70mm? :2504; 95mn® :300A. /E\

/N\g2.7 REF

A0 BEizs

P/N Model NO. Accepted Wire 0D P/N Model NO. Accepted Wire OD
AC-HA004440 PL58X-301-35 AC-HA004455 PL58X-300-35
AC-HA004441 PL58Y-301-35 AC-HA004456 PL58Y-300-35
AC-HA004442 PL58U-301-35 11.5+0.3 AC-HA004457 PL58U-300-35 11.54+0.3
AC-HA004443 PL58V-301-35 AC-HA004458 PL58V-300-35
AC-HA004444 PL58W-301-35 AC-HA004459 PL58W-300-35
AC-HA004445 PL58X-301-50 AC-HA003745 PL58X-300-50
AC-HA004446 PL58Y-301-50 AC-HA003746 PL58Y-300-50
AC-HA004447 PL58U-301-50 13.6+0.3 AC-HA003747 PL58U-300-50 13.6+0.3
AC-HA004448 PL58V-301-50 AC-HA003748 PL58V-300-50
AC-HA004449 PL58W-301-50 AC-HA003749 PL58W-300-50
AC-HA004450 PL58X-301-70 AC-HA004460 PL58X-300-70
AC-HA004451 PL58Y-301-70 AC-HA004461 PL58Y-300-70
AC-HA004452 PL58U-301-70 15.540.3 AC-HA004462 PL58U-300-70 15.5+0.3
AC-HA004453 PL58V-301-70 AC-HA004463 PL58V-300-70
AC-HA004454 PL58W-301-70 AC-HA004464 PL58W-300-70

M2.0 locking screw

HBELNI THRBAR TS, R R NIRIBEUR
Add thread glue here and tighten the nut When it is used in cable assembly
Do not add glue when it is used in standard part

3. A HIE Operating voltage:1000 VDC.

4.7t H [k Dielectric withstanding voltage: 5000 VDC.
5. Bt 44, Protection class:IP67 & IP2X.

6. HLFEBR# Shielding.

7. WUliZr Mating cycle:100 Min.

L\ 73.1 ReF

AMPHENOL

Amphenol Technical Products International GZ

EiEViE e

IR ) THIRD ANGLE P g T [[72/4 Ll f5]  |PART NAME:
8. H A KB Automatic secondary lock. PROJECTON | seev | S7¢ R | S Purlok 10mm-90 1POS Plug Assy
9. By IRl IE [ #517190° Rotate function of wire. @ = | 107 A3 £
10. W= EEH Electrical interlock (HVIL). % % SIGNATURE Ei¥) DATE | UNLESS OTHERWISE SPECIFIED PL58-300
11. Fie % Mating receptacle : See drawing “PL00-300" E il FE DRAWN Steven 11/29/19 3 ?!éﬂili”!i . f‘guoﬂ;z%m(mm)
12. BRI A BEHIE Tightening Torque of Locking Screw: 0.17+0.01 Nm A H H CHECKED 0 PLOEC +1.00 CUST PART " ousT R
#t # APPROVAL 2 PL DEC +0.20 Angles £1° -
1 \ 2 \ 3 4 5 6 7 \ 8



AutoCAD SHX Text
Angles %%P1%%D

AutoCAD SHX Text
2 PL DEC %%P

AutoCAD SHX Text
1 PL DEC %%P

AutoCAD SHX Text
0 PL DEC %%P

AutoCAD SHX Text
2) Tolerances are as follows:

AutoCAD SHX Text
1) All dimensions are in metric(mm).

AutoCAD SHX Text
%%UUNLESS OTHERWISE SPECIFIED

AutoCAD SHX Text
THIS DRAWING IS SUPPLIED FOR INFORMATION ONLY. DESIGN FEATURES, SPECIFICATIONS AND PERFORMANCE DATA SHOWN HEREON ARE THE PROPERTY OF THE AMPHENOL CORPORATION. NO RIGHTS OF REPRODUCTION ARE IMPLIED. ALL DIMENSIONS ARE SUBJECT TO NORMAL MANUFACTURING VARIATIONS..

AutoCAD SHX Text
DWG NO:

AutoCAD SHX Text
CUST PART #: 

AutoCAD SHX Text
APPROVAL

AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
CHECKED

AutoCAD SHX Text
SIGNATURE

AutoCAD SHX Text
DATE

AutoCAD SHX Text
APPR

AutoCAD SHX Text
BY

AutoCAD SHX Text
DATE

AutoCAD SHX Text
ECO

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
ZONE

AutoCAD SHX Text
REV

AutoCAD SHX Text
PART NAME:

AutoCAD SHX Text
REV.

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
      OF 

AutoCAD SHX Text
THIRD ANGLE

AutoCAD SHX Text
SIZE

AutoCAD SHX Text
PROJECTION

AutoCAD SHX Text
SHEET

AutoCAD SHX Text
CUST REV.

AutoCAD SHX Text
-

AutoCAD SHX Text
PwrLok 10mm-90 1POS Plug Assy

AutoCAD SHX Text
N/A

AutoCAD SHX Text
11/29/19

AutoCAD SHX Text
Steven

AutoCAD SHX Text
PL58-300

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
E

AutoCAD SHX Text
A3

AutoCAD SHX Text
1.00

AutoCAD SHX Text
0.20

AutoCAD SHX Text
0.50

AutoCAD SHX Text
EC

AutoCAD SHX Text
RW

AutoCAD SHX Text
06/24/15

AutoCAD SHX Text
INITIAL RELEASE

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
A

AutoCAD SHX Text
GX

AutoCAD SHX Text
RW

AutoCAD SHX Text
03/25/16

AutoCAD SHX Text
The Locking Screw Change from M2.5 to M2.0 

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
B

AutoCAD SHX Text
E

AutoCAD SHX Text
TS

AutoCAD SHX Text
RW

AutoCAD SHX Text
09/29/16

AutoCAD SHX Text
Change back shell

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
C

AutoCAD SHX Text
C

AutoCAD SHX Text
C

AutoCAD SHX Text
RW

AutoCAD SHX Text
SW

AutoCAD SHX Text
10/28/16

AutoCAD SHX Text
 Add Locking Screw Assembly Torque

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
D

AutoCAD SHX Text
D

AutoCAD SHX Text
JL

AutoCAD SHX Text
Steven

AutoCAD SHX Text
11/29/19

AutoCAD SHX Text
Updated Spec.

AutoCAD SHX Text
--

AutoCAD SHX Text
--

AutoCAD SHX Text
E

AutoCAD SHX Text
E


	PL58-300_CD REV E.pdf
	图纸和视图
	模型



